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Teacher:		Class:		Year:	3-4		Term: Autumn 1			Week Commencing: Week 4

	Topic
	NC Links:
Pupils should be taught to:

Place Value

	Day
	Mental/Oral Starter
	Main Lesson
	Plenary
	Assessment

	
	Objectives
	Activity
	Objectives
	Teaching
	Activities
	Key Vocabulary
	Activity
	

	Mon
	L.O. Recall 3x table


          
L.O. fluency

[bookmark: bookmark=id.1hmsyys][bookmark: bookmark=id.ihv636][bookmark: bookmark=id.32hioqz][bookmark: bookmark=id.41mghml]Y3

183+52=
144-21=
17x3=
24÷3=

[bookmark: bookmark=id.3fwokq0][bookmark: bookmark=id.vx1227][bookmark: bookmark=id.2grqrue]Y4

4315+589 =
700 – 202 =
189 x 3 =
369 ÷ 3 =
	TMM

L.O. To tick or X and explain why some calculations are wrong
	[bookmark: bookmark=id.1v1yuxt][bookmark: bookmark=id.4f1mdlm]L.O.
To round to the nearest 10.

Success Criteria:

Must: Round 2-digit numbers to nearest 10
Should: Round 3-digit numbers to nearest 10
Could: Round any number to the nearest 10
	Teach chn to look at a 2-digit number on a number line and decide which multiple of 10 it is closer to. They then apply their understanding to 3-digit numbers focussing on the 1s and rounding up and down.
Teach chn the importance of 5 and even though it is in the middle of 0 and 10, 5 always rounds up.
What is a multiple of 10?
Which multiples of 10 does … sit between?
Which column do we look at if we are rounding to the nearest 10?
What do we do if the number in that column is 5?
	Which multiples of 10 does … sit between?
Which multiple of 10 is the number closer to?

Chn round numbers to nearest 10.

Given a rounded number, what could the original number have been? List all possibilities


	Rounding
Multiples
Nearest
Ones 
Tens
	Which column do we look at if we are rounding to the nearest 10?
What do we do if the number in that column is 5?
	Exceeding ARE:



At ARE: 




Below ARE: 




SEND




PPG



EAL
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	Day
	Mental/Oral Starter
	Main Lesson
	Plenary
	Assessment

	
	Objectives
	Activity
	Objectives
	Teaching
	Activities
	Key Vocabulary
	Activity
	

	Tues
	L.O. Times Table Test


L.O. fluency

[bookmark: bookmark=id.28h4qwu][bookmark: bookmark=id.19c6y18][bookmark: bookmark=id.3tbugp1][bookmark: bookmark=id.nmf14n]Y3

171-51=
125+124=
15x6=
60÷6=

[bookmark: bookmark=id.37m2jsg][bookmark: bookmark=id.1mrcu09][bookmark: bookmark=id.46r0co2]Y4

3851 +3585 =
702-418 =
189 x 6 =
372 ÷ 6 =          


 
	TMM
L.O. <, > or =

	L.O.
To round to the nearest 100.

Success Criteria:

Must: Round 3-digit numbers to nearest 100
Should: Round 4-digit numbers to nearest 100
Could: Round any number to the nearest 100
	Teach chn to compare rounding to 10 where they look at the 1s column to rounding to 100 where they look at the 10s column.
Chn use knowledge of multiples of 100 to understand which two multiples of 100 a number sits between.
What is the same/different about rounding to the nearest 10 or 100?

	Which multiples of 100 does … sit between?
Which multiple of 100 is the number closer to?

Chn round numbers to nearest 100.

Given a rounded number, what could the original number have been? List all possibilities

Always sometimes never statements.
	Rounding
Multiples
Nearest
Ones 
Tens
Hundreds
	Why does 49 round down and 50 round up?
Can the answer be 0 when rounding?
	Exceeding ARE:



At ARE: 




Below ARE: 





SEND
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EAL
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	Day
	Mental/Oral Starter
	Main Lesson
	Plenary
	Assessment

	
	Objectives
	Activity
	Objectives
	Teaching
	Activities
	Key Vocabulary
	Activity
	

	Wed
	L.O. Recall 6x table


          
L.O. fluency
[bookmark: OLE_LINK13][bookmark: OLE_LINK14][bookmark: OLE_LINK29][bookmark: OLE_LINK44][bookmark: OLE_LINK45][bookmark: OLE_LINK60]Y3
12 x 6 =
36 ÷ 6 =
195 – 74 =
182 + 106 =

[bookmark: OLE_LINK15][bookmark: OLE_LINK16][bookmark: OLE_LINK30][bookmark: OLE_LINK46][bookmark: OLE_LINK61]Y4
336 ÷ 6 =
478 x 6 =
400- 98 =
6291 + 1829 =
	TMM

L.O. Grid of multiples of 6x tables

	L.O.
To round to the nearest 1000.

Success Criteria:

Must: Round 3-digit numbers to nearest 1000
Should: Round 4-digit numbers to nearest 1000
Could: Round any number to the nearest 1000
	Teach chn to build on knowledge of rounding to nearest 10 and 100 to round to nearest 1000.
Chn must understand which multiple of 1000 a number sits between.
When rounding to 1000, children should look at the 100s column
	Target Your Maths 4 p10 Challenges A, B & C

Maths – No Problem 4A Worksheets 11-14 p 14-19
	Rounding
Multiples
Nearest
Ones 
Tens
Hundreds
Thousands
	A number is rounded to the nearest 1000. The answer is 7000.
What is the greatest number the original number could have been? What is the smallest it could have been?
	Exceeding ARE:



At ARE: 




Below ARE: 





SEND





PPG





EAL
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	Day
	Mental/Oral Starter
	Main Lesson
	Plenary
	Assessment

	
	Objectives
	Activity
	Objectives
	Teaching
	Activities
	Key Vocabulary
	Activity
	

	Thurs
	L.O. Recall 6x table


          
L.O. fluency
[bookmark: OLE_LINK31][bookmark: OLE_LINK32][bookmark: OLE_LINK47][bookmark: OLE_LINK62]Y3
[bookmark: OLE_LINK17][bookmark: OLE_LINK18] 42 ÷ 6 =
16 x 6=
140 - 20 =
122 + 27 =

[bookmark: OLE_LINK19][bookmark: OLE_LINK20][bookmark: OLE_LINK33][bookmark: OLE_LINK48][bookmark: OLE_LINK63]Y4
783÷6=
299x6=
4198+2745=
500-372 =


	TMM

L.O.To fill in a web
	L.O. To compare objects

Must: Know numbers to 1000
Should: Use comparative language to compare.

	Teach chn to use objects to represent numbers to 1000. They use comparative language and symbols to determine which is greatest/smallest.
Chn use concrete manipulatives or draw them pictorially.
Use stem sentences to ensure correct vocabulary.
	Chn represent numbers with place value counters and Base 10.
Exercises to use <, > or =

Odd one out exercise

Maths No Problem 3A Worksheet 4 p9-13

	Greater
Smaller
Equal

	How do you know which number is greater?
Do you count 100s, 10s or 1s first?

	Exceeding ARE:



At ARE: 




Below ARE: 





SEND





PPG





EAL
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	Day
	Mental/Oral Starter
	Main Lesson
	Plenary
	Assessment

	
	Objectives
	Activity
	Objectives
	Teaching
	Activities
	Key Vocabulary
	Activity
	

	Fri
	L.O. Recall 6x table

          
L.O. fluency

[bookmark: OLE_LINK21][bookmark: OLE_LINK22][bookmark: OLE_LINK34][bookmark: OLE_LINK64]Y3
54÷6=
40x6=
169-34=
134+12=

[bookmark: OLE_LINK23][bookmark: OLE_LINK24][bookmark: OLE_LINK35][bookmark: OLE_LINK51][bookmark: OLE_LINK65]Y4

[bookmark: OLE_LINK3][bookmark: OLE_LINK4]6084+747 =
450 - 148 =
405 x 6 =
316 ÷ 6 =
	TMM

L.O.  Fill in a Venn Diagram


	L.O. To Compare \numbers

Must: Know numbers to 1000
Should: Use comparative language to compare
	Teach chn to compare numbers using inequality symbols.
Chn need to choose an efficient method to compare the numbers.

	Maths No Problem 4A Worksheets 6 & 7 p8-10

	Greater
Smaller
Equal

	What strategy did you use to compare the numbers?

Can you find more than one way to complete the statements?
	Exceeding ARE:



At ARE: 




Below ARE: 





SEND





PPG





EAL
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image7.png
Using the digit cards O to 9, can you
make whole numbers that fit the
following rules? You can only use each
digit once.

1. When rounded to the nearest 10, |
round to 20

2. When rounded to the nearest 10, |
round to 10

3. When rounded to the nearest 100, |
round to 700
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Always, Sometimes, Never

Explain your reasons for each
statement.

* A number with a five in the tens
column rounds up to the nearest
hundred.

* A number with a five in the ones
column rounds up to the nearest
hundred.

* A number with a five in the
hundreds column rounds up to the
nearest hundred.
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When a whole number is rounded to the
nearest 100, the answer is 200

When the same number is rounded to
the nearest 10, the answer is 250

What could the number be?

Is there more than one possibility?
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Say whether each number on the number line is closer to 3,000

or 4000
I I I
I T —1 J
3,000 3280 3591 3700 4000

Round 3,280, 3591and 3,700 to the nearest thousand.

Round these numbers to the nearest 1000

+  Eight thousand and fifty-six

« 5 thousands,5 hundreds, 5 tens and 5 ones

. L
Complete the table.
Start number | Rounded to | Roundedto [ Rounded to
the nearest | the nearest | the nearest
10 100 1000

Davids mum and dad are buying a car.

‘They look at the following cars:

CarA CarB CarC
~.
) 7863

Approximately | Approumately || Approxmately
10000 mies | ‘8000 mies | 8000 mies

Areall of the cars correctly advertised?

Explain your reasoning.

A number is rounded to the nearest
thousand.

The answer is 7000

What could the original number have
been?

Give five possibilities.
Whatis the greatest number possible?

What is the smallest number possible?
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Represent and compare the numbers using place value counters.  Which image i the odd one out? True or False?

452 542 0@000
sgeaertn__ QOO0 . . . H

Use <, > or = to make the statements correct. o . o

=
m AR ...

Draw objects to make the statement true. @ @ e
Explain why.
< How else can you represent the number?
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Circle the greatest number in each pair

Nine hundred and two 920
500and 63 568
7hundreds and 6 ones 76 tens

Use <, > or = to make the statements correct.

399 O 501
800 O 80 tens.

Complete the statements.
600+70+4 > 600+ +4

Two hundred and five <

Amir has 3 jars of sweets.
D D
Sweets Sweets Sweets

A B [

Jar A contains 235 sweets.

Jar C contains 175 sweets.

Jar A has the
most sweets in.
Jar C has the
least sweets in.

(eJo)

How many sweets could be in jar B?
Explain how you know.

1 am thinking of a number.
Itis between 300 and 500
The digits add up to 14

The difference between the greatest digit
and the smallest digit is 2

What could my number be?
Is there only one option?

Explain each step of your working,
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A whole number is rounded to 370
What could the number be?
Write down all the possible answers.

370

Two different two-digit numbers both
round to 40 when rounded to the
nearest 10

The sum of the two numbers is 79

What could the two numbers be?

Is there more than one possibility?
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Which multiples of 10 do the numbers sit between?

"""

31 32 33 34 35 36 37 38 39

Say whether each number on the number line is closer to 160 or
170?

160 163 166 167 170
Round 163,166 and 167 to the nearest 10

Complete the table:

Start number Rounded to the nearest 10

851

XCVIII
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Whitney says:
847 to the nearest 10
is 840

Do you agree with Whitney?

Explain why.
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Which multiples of 100 do the numbers sit between?

44—

810 820 830 840 850 860 870 880 890

Say whether each number on the number line is closer to 500 or
600.

500 535 556 568 600
Round 535,556 and 568 to the nearest 100
Use the stem sentence: rounded to the nearest 100 is

Complete the table:

Start number Rounded to the nearest 100

994

XLV





